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= 18t=(logarithm function)

y=100,* (= w0 a0, a=1)

Xt 2 T (natural log) I()g X=1InX
€

A2 2 ] (common log) IOng
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(1) 10%=1 (2) 3t=3 (3) 37%=p (4) e*=1.5

solution

(1) 0=log;,1 (2) 1=1logy3 (3) —a=log,b 4) a=log, 1.5

ORI 24 oo =aaye Age oz deuole.

(1) log, 3=1 (2) logy, ( ! )b (3) log, 1=0 (4) 10g7(419)2

C

solution

D) 33 @ =100 @) 1-¢ @) ——7°
C 49

. (3) log, a=1
10 = LOQSS = 1 (4) log, 1=0
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> y=Inlx-a] :x= BF2= +alt7 TYO0IS

y
h(x)=2+1nx

olﬁ 3

g(x)=1In(x-3)

I
glz)=In(z—3)< hiz)=2+1nx



2.1 XIsesel 28

(1) log, bc=log b+log c
b

(2) log, —=log,b—log,c
C

(3) log, b™ = mlog,b

log b

(4) log, b= — T, =190

log.a
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(1) 9°—3""1+2=0 (2) log,(z—3) =log,(x—1)

solution

(1) X=3° ]2} &
9° =3 +2=3"-3-3 +2=(3")-3- 3 +2=0
X=3X+2=(X—-1)(X-2)=0
X=1 B+ X=2
I PR 3¢ =1 X 3'=2 o]H=E

logsl=0==

logs2 ==
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(1) 97 —=3""14+2=0 (2) log,(x—3) =log,(x—1)

solution

log, (x—1) log,(z—1) log,(xz—1)
log, (z—1) = —> 5 _ 2 olmz = AL

log, 4 log, 2’ 2

2log, (z—3) =logy(x—1)
log,(z—3)*=1log,(z—1)

TJHERE (z—3) =z—1
' —6r+9=xz—1, 2*—Tx+10=0; (z—2)(x—5)=0
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A=A Bt (hyperbolic function)

A=A (hyperbolic sine function), #3341 g (hyperbolic cosine function)

L - U
e'—e " ef+e ¢
sinhz = , coshz =
2 2
a3 o)E $FEYH QoiXe AE
sinhz e*—e * coshzx e"+e”
tanh z = = , cothz = = (x+0)
coshz e " sinhx ef—e *
1 2 2
sechx = - , cosechz = — — (z=0)

cosh x ef +e * sinhz e’ —e
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coshz +sinhx = ¢€*

coshxz—sinhx = e
9 .19

cosh“z—sinh“z =1

1 —tanh’x =sech’x

coth’x — 1= cosech’x

— &

J

(6) y=sinh 'x

(7) y= cosh™ !z
(8) y= tanh™ !z
(9) y= sech ' x

(10) y = coth ™!

(11) y= cosech™!
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x = sinhy

x = coshy, y=10

=
—
& g = tanhy, x[<1
< x=sgechy, y=0
—

x = cothy

X ¢ X =cosechy
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